Maths – week 10
If you normally do blue task:

1. Find double of:

4

       1

       6

      10

2. Write your number bonds to 20.


3. 5 x 11 =
5 x 9 =
5 x 5 =
5 x 6 =
5 x 2 =
0 x 5 =

4. 2 x 0 =
10 x 2 =
2 x 5 =
6 x 2 =
2 x 7 =
4 x 2 =





5. 
12 ÷ 2 =
70 ÷ 10 =
8 ÷ 2 =
20 ÷ 5 =

6.
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One Half
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One half can be written 1 or 2 or = or
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One half of each of these figures is shaded:
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Colour one half of Colour one half of each of
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What number is half of 27
What number is half of 4?
What number is half of 67

What number is half of 87
What number is half of 107

What number is half of 207 ____





image6.png
Natalie has these coins.

How much money does Natalie have?
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How many sides has  hexagon?
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Draw an octagon
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The names of five shapes are given.

pentagon  friangle  hexagon  kite  rectangle

‘Three of them are drawn below.

O N L





image10.png
Chioe asks all the students in class 7C what colour hair they have.

This graph shows the resuits
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Hair colour of students in class 7C
10

Number of students
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Denzil records all the colours of the cars in his school's car park.

Here are the results.
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Colours of cars in the school car park

Number of cars 12

Bue Red White Black Ofher

Colour
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172 217 273 198

smallest largest
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Write these numbers in order, starting with the smallest

502 1052 520 205 250
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Here are the heights of five hills.

e
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Altmore 538m
Heathmount 551m
Slemish 499m
Donard 542m
Cley Hill 517m
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Wreite these prices in order, starting with the smallest

£6.30 £3.60 63p £0.36 £3.06
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The names of six 3-D shapes are given below

Cube Sphere Triangular Prism

Cuboid Cylinder Cone

Three of them are drawn below

What is the name of shape A2

What is the name of shape B?

What is the name of shape €2
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Here is a cube.
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Here is a triangular prism.
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Tilly has £61

Georgina has £14 less than Tilly
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If one person has two eyes, how many eyes do 7 people have altogether?
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Billy builds three towers. Each tower has 5 bricks in it. How many bricks
does he use altogether?

]




image3.png
Tom has five packs of sweets. Each pack has 10 sweets in it. How many
sweets does he have altogether?
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Mr Wolf has managed to get all his times mixed up.
Can you match the time to the clock?

half past 11

half past 3

half past 6

half past 7

12 o'clock




